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J Period
1. Match the probabilities with each statement.
Statements ‘ ’ Probabilities

(a) This event is certain. [t will always occur. ‘ 1 | 0
(b) This event is impossible. It can never occur. 0.01
(c) This event will occur more often than not. LZ__(O/‘_ 0.3
(d) This event is very likely. It will occur almost every time. 0.6
(e) This even is very unlikely, but will occur very rarely. .0 l 0.99

1

2. Choose a student at random from all who took statistics in recent years. The probabilities are:
Grade: A B C D F
Probability: 20% 30% 30% 10% ?

o . ‘ o
(a) What must be the probability of getting an F? \1_9—-/[9—\

(b) What is the probability of getting a C or better?

(c) What is the probability of getting an A oran F? )'2700/0 (

(d) What is the probability of not getting an A?

3. When drawing a single card from a standard deck of 52 cards:
(a) What must be the probability of getting a Jack? 4’/5 VA
(b) What is the probability of getting any face card (Jack or Queen or King)?

K
(c) What is the probability of getting a spade? \/‘75:,—\

(d) What is the probability of getting any black card (Spades or Clubs)?

(e) What is the probability of not an Ace?



4. A teacher is randomly selected.

9)

Science | Math English | Phy. Ed. | Social Studies
Bachelor’s 5 4 7 4 11
Master's 6 9 4 3 3
PhD 2 3 1 0 2

Find the probability that the teacher selected has a Master’s degree.

Find the probability that the teacher is a Math teacher or has their PhD.

Find the probability that the teacher is an English or Social Studies teacher.

Find the probability that the teacher has a Bachelor’s degree or teaches Science.

Find the probability that the teacher has a Master’s degree or PhD.

Find the probability that the teacher has a PhD or teaches English.

Find the probability that the teacher selected does not teach Math.

5. Anoka students are surveyed about favorite radio station. Here are the results:

KDWB | 93X K102 B96 The Current
Freshman 115 59 36 42 9
Sophomore 98 47 40 32 16
Junior 102 55 43 15 22
Senior 79 62 39 28 37

Find the probability that the student favors KDWB or K102.

Find the probabiklity that the student is a freshman or séphomore.
Find the probability that the student is a junior or favors The Current.
Find the probability that the student favors 93X or is a senior.

Find the probability that the student is a sophomore or favors B96.

Find the probability that the student is a junior or senior.
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Unit 2: w.s. #2

1. A vehicle is randomly selected from a parking lot.

g)
h)

Name Vﬁe\’[ (20\ L?B

Blue Red White Black Silver
Car 15 4 7 12 11
Truck 10 7 4 8 3
Van 2 1 5 7 2

Find the probability that the vehicle is a car.

| Find the probability that the vehicle is a white car.

Find the probability that the vehicle is a car or silver.

Find the probability that the vehicle is a red or silver.

Find the probability that the vehicle is a black or a truck.

Find the probability that the vehicle is a car given that it is silver.

Find the probability that the vehicle is a blue given that it is a van.

Find the probability that the vehicle is a truck given that it is white.

2. A college Chemistry class has a student enrollment as follows.

g9)
h)

Sophomore Junior Senior
Female 4 17 5
Male 2 14 13

Find the probability that the person is a junior.
Find the probability that the person is a sophomore or a female.

Find the probability that the person is a male or a junior.

Find the probability that the person is a male given that he is a senior.

Find the probability that the person is a female junior.

Find the probability that the person is a sophomore male.

Find the probability that the person is a junior given that she is a female.

Find the probability that the person is a senior given that he is a male.
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3. A group of AHS females were surveyed about their prom plans.

going with going with
friends date not going
Sophomore 2 6 24
Junior 18 13 19
Senior 22 25 15

a) Find the probability that the student is going with friends and is a senior.
b) Find the probability that the student is going with a date or a junior.

¢) Find the probability that the student is not going or a sophomore.

- d) Find the probability that the student is going with a date given she is a senior.

e) Find the probability that the student is a senior given she is going with a date.

f) Find the probability that the student is going with a date and is a sophomore.
g) Find the probability that the student is a sophomore and is a senior.
h) Find the probability that the student is going with friends or a sophomore.

i) Find the probability that the student is not going given she is a junior.
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1. Draw a Venn diagram and then find the intersection of the s
{2,4,6,8,10t n {1,2,3,4,5,6,7,8,9,10} = t 2,4, g’ 16
=3 {

® 4
2. Use the Venn diagram given the answer the following questions. { Favorite Sports ]
a. SoccernHockey . SwimmingnHockey =

J
| 2am Joe [6;\(65 ,J0e l
- b. SwimmingnSoccer = d. SwimmingnSoccernHockey =

3. Draw a Venn diagram and then find the union of the sets.

{a,b,c, d, e} U {aeiour U {cat) - v
© @ @@ |
‘:\O\\OCd C)O\X’t s

4. Use the Venn diagram given the answer the following questions. | Household Chores |
a. StevenuJames = ¢. JamesuClark =
V\/ Lawnd 3 Lowin
No > 4 Mo\') cook
D\6 €S« Ddhes dust

Qo \oa% e

Qargedel,

Lo d. JamesuClarkuSteven =

b. StevenuClark =




5. Place the names in the appropriate
location in the Venn diagram and then answer
the questions that follow.

Bob: Sophomore Janet: Junior
Stu: Junior Mai: Junior
Alan: Junior Kate: Sophomore
Walt: Freshman Darla: Senior
Carl: Sophomore Pam: Sophomore
Ed: Senior

{Girl} u {Sophomore} = J, M D ¥, 7,9,C

{not Girl} u {Sophomore} =

()

{not Girl} U {not Sophomore} = J,M,D, B C
: €

/

{Girl} n {Sophomore} =

“p

{Girl} n {not Sophomore} = ’\T,M,'B

<

6. Make a Venn diagram for drawing a single card. Let A= Aces and B=diamonds.

7. Sixty individuals were survey about what type of pet they own.

P(diamond)= \%/52

P(Ace or diamond)=

P(not diamond)= tj’q/gg_
P(not Ace and not diamond)=
P(diamond and Ace)= )/%_L

P(Ace and not diamond)=

P(dog or lizard)= 5%7(90

P(cat and dog)=

P(cat or dog or lizard)= ’5'5/(?0
P( owns cat and dog and lizard)=

P(not cat and not dog and not lizard)= 6/(90
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Period

1. The following are probability models for the outcomes when a 6-sided die is rolled.
Describe why each model is or is not legitimate.

. Y
a) Not \:6_6"\" imate. (c) Le,g\‘erJcAC
Outcome 2 3 4 5 6 Outcome 1 2 3 4 5 6
Probability 30 15 | o | .25 {-057 .40 Probability | .25 | .05 | 35 | 12 | .13 | .10
e
7 . s QM TE)! OF P(E)S
not 0 & P(eE)E | o Suvn of probs =14
(b) (d)
Outcome 1 2 3 4 5 6 QOutcome 1 2 3 4 5 6
Probability [ .10 | .15 | 15 | 20 | 25 [ .03 Probability | .05 | 105 | 5 | 25 [ 10 | .60

2. You flip a penny, a nickel, and a dime and record if each lands heads or tails.

(a) Make a probability model for one toss of the three coins. P N D
Sy ‘(V\CS‘HHH Hm\mw WY [ TH gl <5
oudee o [l e v
AIAARATANA By

<\ . H

(b) What is the probability that they land penny=tails, nickel=heads, and dlme—talls? '/8
(c) What is the probability that they land with all tails?
(d) What is the probability that at most one coin lands heads? 4/8

(e) What is the probability that at least one coin lands tails?
3. The Snack Shack has a spinner you can spin when you get your bill. The spinner tells you what
part of your bill you must pay.

(a) Make a probability model for one spin.

@\ﬁvwme6\ Cyee \ Q\,\\\ \\Oo/o G'PQ \‘1‘5% cyﬁ
pvdm\oiliw\ Vo | e | e Rz

(b) What is the probability that you will not have to pay full price? | /Y
(c) What is the probability that you will get 10% or 25% off? Zolé?(,
(d) What is the probability that you will get at least 25% off?



4. Refer to the probability model for rolling two 6-sided dice in your notes to find each probability.

(@) P(sum of 7) “‘0 g;(pj () P(sum of 3) \77/5(/]

(b) P(sum of 7 or 11) (f) P(sum of less than 7)
(c) P(sum of 12)[ g@f_l (9) P(sum of 9) 4/%(0
(d) P(sum of 2 or 12) (h) P(sum of 6, 7, or 8)

5. A tetrahedral (4-sided) die has faces labeled with 1, 2, 3, and 4 spots.
(a) Make a probability model for rolling one such die.

outtomes | 1 [ 2] 2|1

rols - \V%\‘/%\‘/4\ A

(b) What is the probability of rolling a 2 or 37 @
- (c) What is the probability of rolling less than a 47

2
(d) What is the probability of rolling at least a 37 m

(e) What is the probability of not rolling a 17?

6. Now we are rolling two tetrahedral (4-sided) dice.
(a) Make a probability model for rolling two tetrahedral dice.

(b) What is the probability of rolling a sum of 57 ‘ 4/{ (ﬂ¢\
st
(c) What is the probability of rolling a sum of 7 or 87

5
(d) What is the probability of rolling a sum that is not 2?‘ Alp
(e) What is the probability of rolling a sum of 127
1o
(f) What is the probability of rolling a sum less than 67 \m

(9) What is the probability of rolling a sum of at least 67
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Unit 2: w.s. #5 Name

For each problem, make a probability model and find the expected value.

1. Sarah throws a dart at the dartboard pictured here.
If it lands in A, she wins $12 Otherwise, she loses $3. B

owtcome | $12 | %3 ( =00 ?5/9@)1(:(
oo | Y | 7

2. Rick throws two darts at the same dartboard as Sarah.
If they both land in A, she wins $50. If they both land in B, she loses $2.
Otherwise, she breaks even.

3. A deck of cards contains 52 cards of which 4 are aces. You are offered the
following wager: Draw one card at random from the deck. You win $10 if the card is

an ace. Otherwise, you lose $1. B
Ex) = \glﬂai’hc

Ace Mot Adle
outiomne | ®\o ‘ —4

Ppro\o \ Y/s o l 452

4. A deck of cards contain 13 hearts. Here is another wager: Draw one card at
random. If the card is a heart, you win $2. Otherwise, you lose $1.

5. Melinda draws one card from a standard deck. Ifitis a diamond, she wins $50.

Otherwise, she Ioses $10.
ot Atemond

oud WWW;‘ $5® o \ELSQ "g\S[ane Y

ol \ \‘757_\ V52




6. A study conducted by a television station showed the number of televisions per
household and the corresponding probabilities. Find the average number of TV sets
per household.

# of TVs 1 2 3 4 5
Probability .12 21 22 .35 10

7. Amy tosses 3 coins. If they all land heads, she wins $60. Otherwise, she loses $8.
(hint: make a tree diagram to help you list the outcomes for tossing 3 coin 4 '
el =.S0fne

G BHT | WTHD BT Taen ) Tur) Ten T
: LB (P
odwmes | 300 1% He |5 |55 | %y Py Py

pob. | Vo | Ve Ve Ve [Ve Ve Vel Ve

: AHY w%mw
or outumes \AQ(OO \ - %
' prob | ve | 7
8. Three coins are tossed. If they land with at least 2 tails, Lela wins $30. Otherwise
she loses $5.

9. Suppose you play a game with a biased coin. You play each game by tossing
the coin once. P(heads)=2/3 and P(tails) = 1/3. If you toss a head, you pay $6. 1
toss a tail, you win $10. |

o\,&wmekj" o \iﬁ' \O
’j\)V_O\D' \17/3; \ V2

. (Ot{éam f

10. Ray draws a card randomly from a deck, and Bob gives him the number of dollars
indicated by the rank (Ace $1, Two=$2,...,Ten=$10, and face cards=$10).
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1. Cody pays $10 to draw one card from a standard deck. If it is an Ace, he wins
$100. Find theAeépected value

ouktome. | $100 H’O

Ely) = — 'Zi 31| Gad
owle | Y5z | 42 \ A gorne

2. A cash prize of $2500 is to be awarded by the Community Ambulance Assn. If
3000 tickets are sold at $2 each, find the expected value.

3. A box contains ten $1 bills, five $2 bills, three $5 bills, one $10 bill, and one
$100 bill. A person is charged $20 to select one bill find theezgg_eggj value
O\x&’(,omﬁ\ 8 ﬁz\‘ﬂbl%ﬁ \o | ﬁ\OD

o I?\W o 1V |e60- P relgme
prdo- \ZolAoVoo | oo 1 /20

4, If a person rolls doubles when he tosses two dice, he wins $5. If the game is to
be fair, how much should the person pay to play the game?

5. If a player rolls two dice and gets a sum of 2 or 12 she wins $20. If the person

gets a sum of 7 she wins $5. The cost to play the game is $3. Find the long term
average for tl;lzl_s game. ..

O\ALOW\C\‘Q;O\’:‘*‘D | %0 Eb()"‘ j‘\-OU/Same
oD \i/ﬂ, \‘%u \Z%/éb -

6. A lottery offers one $1000 prize, one $500 prize and five $100 prizes. Two
thousand tickets are sold at $3 each. Find the expected value if a person buys one
ticket. -




7. Ms. Boo charged her students $5 each to take the "Minnesota Quiz”. If they
guessed all four true/false questions correctly, they would win $20. Find the

- expected value. | 22 22 =) S
' oL
ouktmeltolbo (et = #3:35)qamd

q?(o\o } \/‘\p I\g/i\a
8. One thousand tickets are sold at $1 each for a color television valued at $350.
Find the value of the raffle.

9. Eight hundred raffle tickets are sold at $1 each. There is one $100,0ne $50, one
$25, and one $10. Find the average per person in the long run.

oud e \‘3"\00 8 so|¥ 25 3‘\‘0 \ig (E()é> = —ﬁj’ﬁL/ gone, (
o @5 180 | 505 —

oo \%080 \

10. If a person, aged 60 buys a $10,000 life insurance policy at a cost of $600 and
has a probability of .972 of living to age 61, find the expected value of the policy.

11. Suppose you play a game of chance in which you choose 5 numbers from O, 41,
2,3,4,5,6,7,8,9. You may choose a number more than once. You pay $2 to

play and could win $100,000 if you match all 5 numbers in order. In the long term,

what is your expected profit of playing the game? }—-—/
' (= =
outme | #oooce |#0 e Game_
> T \_Oﬁ:i‘f‘ o
Pﬁ? eeee 100,000

# owkeemes = 10 o o (0010

= 100,00
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1. Determine whether each of the following situations involve independent events or not.
a) Event one=a red marble is pulled from a bag of 5 red and 5 white, Event two=a 2™ red marble is pulled from same

bag. ‘Deve‘(\écv\'\’

b) Event one=a red marble is pulled from a bag of 5 red and 5 white, Event two=a 2" red marble is pulled from same
bag after the 1% red marble is returned to the bag.

c) Event one= a spinner lands on a blue space, Event two = the spinner lands on a red space.

’Dndcpcw\c\a\’r

d) Event one= a person in the drive thru orders a Big Mac, Event two = the next person orders a Big Mac as well.

e) Event one=a mom has blond hair, Event two= the daughter has blond hair
Bﬁ\;chéx@\f\‘\'

f)Event one=1% card drawn from a deck is a Jack, Event two=2" card drawn is a Queen.

g) Event one= 1% card drawn from a deck is a Nine, Event two=the 9 is replaced and 2" card drawn is a Two.

'Txﬁe\)ﬁhc&o‘(\'\"

2. An opinion poll selects adult Americans at random and asks, “Which political party do you think is more concerned
with health care?” Assign digits to simulate the response of one person in each of the following situations.
a) 50% choose Democratic aid 50% choose Republican.

00 —44 l 50 —99

b) 60% choose Democratic and 40% choose Republican.

c) 40% choose Demo,cratic&40% choose Republican, ar{d 20% undecided.
©O0~39 | 40— 39 I o9

d) 53% choose Democratic and 47% choose Republican.

3. Data is gathered from a past baseball season. Assign digits to simulate 1 at bat in each of the following situations.
a)35% get a hitag@ 65% are out.

oo—2% | 35-99
'b) 24% get a hit and 76% are out.

c) 10% walk,\ZO% get a hit ar\d 70% are out,
vo=-09 o~ 29 | 20-a9
d) 15% walk, 25% hit into an out, 30% strike out, and 30% get a hit.




4, Suppose 80% of a schools students favor abolish final exams. You ask 10 students chosen at random,
a) Make a probability model for asking students this questton

: dont
owrloes |aloligh mbé\\\%h
o F0 o 2070
‘&R@H% | 00-F9 | FO-19

b) Assign digits to represent “yes” and “no”. Add them to your probability model.

¢) Simulate 5 repetitions starting at line 115 of Table A.

S

(O [ [0 G| %4 | aF (3022 [G)] 60| o

a2 GO 51 TG BN e (29 [65) [z | %

(D) 165 [ a2 [0y (5w (3D [(42) [(4)]62) W)
(S 00 [ R a2 B3| 50)] H4] OW] Ay “f///o
— 3y | Yo

(s de) 79 o5 @ e (3O D)

d) Based on your simulation results estimate of the probability that 9 out of 10 favor abolishing final exams?
\P(q ok oF 10 abolih) = 2] |

5. A recent opinion poll showed that about 75% of Americans would donate their organs upon death.
a) Make a probability model for asking students this question.

b) Assign digits to represent “would donate” and “would not donate”. Add them to your probability model.

¢} Simulate 5 repetitions of asking 10 people starting at line 103 of Table A.

d) Based on your simulation results estimate of the probability that at least 7 out of 10 will donate their organs?




Unit 2: ws #8 Name \/36\/ (ZD ‘ (P\
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1. Drug testing is not 100% accurate. A certain drug test publishes these results:
e We know that 99% of this population are drug free.
e The test gives a “positive” reading to those with drugs in their system 98% of the

time.
e The test gives a “positive” reading to those with NO drugs in their system 3% of
the time.

a). Create a tree diagram to illustrate this situation.

? Test Results
Dogs” = —
(27 \ DF/ +

Free (44 /o) " oo

outaeSActual Prob
/
(aaX.03)= ~ 02T

, = ., 9L03
F /— ,OHX:CPJ =
M OO - 9%/ T~ o2 oéﬁi"/ﬁ\ / ¢

/ + (ﬂ%%) NDF/ 4+ (oK) = 00T
Not Free (172) o= L,o\)(‘oz,)‘f L0002

(2%,) N‘DF/ -

\ a4 - e ) 1,06000
- 0\

b) Assign digits to simulate the drug testing results (display these in your tree diagram).

c) Use line 102 in Table A to simulate 10 drug tests.

random |: 4 50 Yo 4 23 G 4% 2 loz/

numbers 45AT Aﬂ %cl 40 /Z:‘I' 15 AP /{2_ Li-éb AO
=/~

DF/- | PR/~ | DF/y D/ [R5/ |DF o/ |DF/_

d) Using your results, find the probability that the test gives g*false positive”. ) = D /+ \—l%)

e) Using your results, find the probability that the test gives a “false negative”. 5
= WoR/— |

f) Using your results, find the probability that the test is accurate. 1
= D\:/— or NDF/+ = 1

outcome | DI

g) Calculate the actual gr\'obabilitigs for all the outcomes.
“vdded Yo free C\(agmm



2. Unfortunately, you have a very serious heart disease and need a heart transplant. Your

doctor is asking you to make a decision about your future treatment and gives you the following

. important information:

o Ofthose who have a heart transplant, 80% survive.

o If you survive the transplant operation, there is a 70% success rate. The other
30% will need to have a second fransplant.

e The chances of surviving at least 10 years for those who had one transplant is
60% and 50% for those who needed two transplant operations.

a) Create a tree diagram to illustrate this situation.

b) Assign digits to simulate your options for treatment of your heart disease (display these in
your tree diagram).

c) Use line 111 in Table A to simulate 10 trials.

random
numbers

outcome

d) Using your resuilts, find the probability that you have one transplant operation and survive for
at least 10 years.

e) Using your results, find the probability that you have two transplant operations and survive for
at least 10 years.

f) Using your results, find the probability that you have one or two transplant operations and
survive for at least 10 years. '

g) Calculate the actual probabilities for all the outcomes.




3. Your statistics teacher notices a strong correlation between the number of times a student is
tardy and that students likelihood of passing the course. Here is the data collected:

e 20% of all stats students are tardy to 2 hour.

e Of those who are tardy, 70% pass the course.

e Of those who are on time, 90% pass the course.

a) Create a tree diagram to illustrate this situation. A&ua\ M
2 Lo r Prbabiliie
_ , Dresing - OutomeS 31@____
Taxdy * e ey T (21%0)=
/"Pohé (?D/"B - Tavay/ s A
TOUFAi (207 | eer! ‘9(1 Ty /Fui | (-20%:20) |
e~ | T Do PesS (207%) ) = .0b
= (3o-9)
TPase (40 /ow NOJFTMA\/ / Pres (901 90)= 12

Not Tewdy (80%) / ( uo?%q

) ab;iﬂ \ ’DOM VoS (107 ) N&Tavé\{/ Fou | (.<O). 10)
o \ s
[ ;{O;qo‘\ - ,0

1 .0000

b) Assign digits to simulate this situation (display these in your tree diagram).

c) Use line 128 in Table A to simulate 10 trials.

mmoars | /6% | Waa| 7ot 71 |V | S5 17V a5 |81 [ ag| T

outcome | T/P NT/P NT/P NT,/P N—r/p ‘T’/P N'T/F NT/P NT'/P N'T‘/-’F’

d) Using your results, find the probability that a stats student is on time and passes the course.
TNT/P l Y o\

e) Using your results, find the probability that a stats student is tardy and passes the course.

=

f) Calculate the actual probabilities for all the outcomes.

cee, Kee Al uﬂmw\



. 4. Many students spend their hard earned money on coffee in the morning.

e Suppose 40% of all students do not drink coffee.
e Of the students that do drink coffee, 70% spend more than $4 per day.

a) Create a tree diagram to illustrate this situation.

b) Assign digits to simulate this situation (display these in your tree diagram).

c) Use line 122 in Table A to simulate 10 trials.

random
numbers

outcome

d) Using your results, find the probability that a randomly selected student spends more than $4
per day on coffee.

e) Using your results, find the probability that a randomly selected student does not drink coffee.

f) Calculate the actual probabilities for all the outcomes.
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Period
For each problem:
(a) Determine if the problem is an “OR” or “AND” problem.
(b) Determine which category (ME, not ME, IND or DEP) the problem falls under.
(c) Find the probability.
AND 1. What is the probability of rolling two 5’s in a row using a 6-sided die? ! y%Lﬂ l
IND -
2. What is the probability of drawing a King followed by a 3 without replacement?
oR. 3. What is the probability of drawing a heart or diamond out of a deck of cards? ‘ L%L&

a,
ok 5
Net M&”
6.

ND
Fj;)e e
8.

What is the probability of rolling a 3 or 4 with a 6-sided die?

J—
What is the probability of drawing a Jack or a heart from a deck of cards? ‘ \LD/S 21
What is the probability of drawing two Aces in a row with replacement?

A student-teacher committee of 4 people is formed from a group of 20 students and 5 teachers.
a) What is the probability that all 4 randomly chosen people are teachers? 120

20 2,000

b) What is the probability that all 4 randomly chosen people are students? 1, 2580
%O@@OD
c) What is the probability that the first 2 are teachers and the second 2 students? 1,00
202, (000

Anoka has 2600 students. There are 43 wrestlers and 32 hockey players. (It is impossible to be on
both teams.) What is the probability of randomly selecting a wrestler or a hockey player from the
whole student body?




X € 9. Out of Anoka’s 2600 students, 62 boys play football, 43 wrestle, and 24 boys do both.
N What is the probability of selecting someone on the wrestling or football team? \(fé | v_l

200

10. What is the probability of drawing a Queen or a Jack from a deck of cards?

NAD 11. The probability of getting a traffic ticket on any given day in Anoka is .002. -
. o . ’ . /’_’-’ ~
\ND a) What is the probability of getting a ticket on 2 consecutive days? \ , 00O00 !

Taqeeod |

b) What is the probability of not getting a ticket on 2 consecutive days?

c) Whatis the probability of not getting a ticket on 100 consecutive days? ( , (g 9

A

12. P(A) =.7, P(B) = .4, Aand B are independent. Find P(A and B).
o _ B . . —
l\/\e 13. P(A) =.1, P(B) = .62, A and B are mutually exclusive. Find P(A or B). ( y.’.}ﬂ

PRS-

14. P(A) = .21, P(B) = .53, P(A and B) = .18. Find P(A or B).
P 15. P(A) =.374, P(B) =.528, A and B are independent. Find P(A and B).@
16. P(A) = .63, P(B) = .15, A and B are mutually exclusive. Find P(A and B).
‘i\%% 17. P(A) = .55, P(B) = .27, P(A and B) = .07. Find P(A or B). L,_Ei
18. P(A) =.8, P(B) =.6, Aand B are independent. Find P(A and B).
O‘%&, 19. P(A) =.12, P(B) = .21, A and B are mutually exclusive. Find P(AorB). |, >33 ‘
20. P(A) = .32, P(B) =.56, A and B are mutually exclusive. Find P(A and B).

O 21.P(A)=.31,P(B)=.93, P(Aand B) =.28. Find P(AorB). | A |




Unit 2: Review Name \Ae\/ (ZD(&@>

Hour

1. A State mediator made a statement to the press saying, “The probability of reaching an
agreement on a new contract within a week is 0.05.” This statement means:

(a) A contract agreement is about to happen.

(b) It is likely a contract agreement will be reached within a week.

(c) A contract agreement may be reached within a week, it may not.

(d) It is very unlikely a contract agreement will be reached within a week.

(e) A contract agreement will definitely not be reached within a week.

2. A human resources director for a large corporation claims the probability a randomly selected
employee arrives to work on time is 0.95. Suppose the first 4 randomly selected employees
arrive for work late. What is the probability the next randomly selected employee arrives late?
(a) 0.95 (b) 0.50 (c) 0.19 (d) 0.05 (e) 0.25

3. Employees at a large university are classified in exactly one of several groups. Fifty percent
of all employees are faculty and 35% of all employees are staff. What is the probability a
randomly selected employee is not faculty or staff?

(a) 0.65 (b) 0.50 (c) 0.05 (d) 0.01 (e) 0.15

4. In government data, a household consists of all occupants of a dwelling unit. Choose an
American household at random and count the number of people it contains. Here is the
assignment ofprobab»ilitie’s for your outcome:

Number of peésftjrns E L o 3 4 K ‘
- Probability - 025 032 177 177 007 0O

6. 7T
03 001

The probability of 3 people in a household is the same as the probability of 4 people. The
probability that a household contains 3 people must be
(a) 0.68 (b) 0.32 (c) 0.16 (d) 0.08 (e) none of these

6. Twenty out of a sample of 275 students say they are vegetarians. Of the vegetarians, 9 eat
both fish and eggs, 3 eat eggs but not fish, and 8 eat neither. Choose one of the vegetarians at
random. What is the probability that the chosen student eats neither fish nor eggs?

(a) 8/275=0.03 (b) 20/275=0.07 (c)8/20=0.4 (d) 0.5 (e) 1

7. In backgammon, one rolls a pair of two fair dice. The probability of getting a sum of 7 is
@E Blx Of Df

(e) Noue of the above.

8. During his NBA career, Larry Bird made approximately 89% of all free throws. Suppose Larry
makes 10 free throws in a row. What is the probability he will make the next free throw?
(a) 0.11 (b) 0.50 (c) 0.01 (d) 0.89 (e) 0.45
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9. A simulation regarding magazine subscriptions is conducted using this assignment of digits.
Time = 00, 01, 02, ..., 49; Newsweek =50, 51, 52, ...,79; Games = 80, 81, 82, e 99

- In repeated simulations, what do you expect the probability of subscribing to Newsweek to

approach?
(a) 0.50 (b) 0.25 (c) 0.20 (d) 0.30 (e) 0.35

10. A store sells assorted candies in four different size boxes. The following mode! describes

the probability of purchasing each size box.
Weight(oz.) 12 16 24 36
Probability .05 40 45 .10

(a) Find the expected value of the weight of a box of assorted candies purchased at this store.

2,(,‘-}0&\(

B

(b) What is the probability a randomly selected customer purchases a box that weighs more
than the expected value? ‘ 55
o ==

(c) What is the probability a customer purchases a box that weighs 12 or 16 0z.? [ﬁ

4
e

(d) What is the probability a customer purchases a box not 12 0z.? \__‘_%

11. What is the probability of rolling two 8's in a row using a 12-sided die?

12. What is the probability of rolling a 10 or 13 with a 20-sided die? ' %O

13. What is the probability of drawing a 4 and a 10 without replacement?

e _—

%z |

14. What is the probability of drawing a spade or diamond out of a deck of cards?

15. What is the probability of drawing a 2 or a club from a deck of cards?

l\A
2304

16. What is the probability of drawing two hearts in a row with replacement? |-




17. You pay $12.50 to spin the carnival spinner one time. You win the dollar amount displayed

on the space you land on.

(a) Make a probability model.

(b) Find the expected value.

(c) Is the game fair? Why or why not?

18. The Venn diagram displays the results of a survey of 10t grade girls.

19. Use the table to answer the following:

Vi

(a) P(MySpace and Facebook) = |0 >
Facebook ’ a1
57 (b) P(MySpace or Facebook) = {0 D
P S
19 (c) P(not Facebook) = {0
(d) P(Facebook but not MySpace) = j 02
j 2

Male

Female

Eat school tunch

152

163

Bring own lunch

2%

51

Skip lunch

2

(e) P(neither MySpace nor Facebook) = 10>

Rloz-
(a) P(school lunch or skip lunch) = 424
242
(b) P(Female or bring own lunch) = 429
492
(c) P(Male and eat school lunch) = 4429
2-

(d) P(Female given skip lunchy= ___ *+

2

(e) P(Bring own lunch given male) = 422




20. On any given day, suppose the price of a certain stock remains unchanged with probability
0.40. If the price changes, it goes up with probability 0.70 and goes down with probability 0.30.

(a) Draw a tree diagram to illustrate the change in the price of this stock on a randomly selected

day.

\/\P/\)owv\?

Not Changed

(40%)

we (R07)
st

Cihan ec) (w Yo
E T Down (30%)

\7?6 -q0\

| 704 |

(b) Assign digits to simulate the change in the price of this stock.
(Add them to your tree diagram).

Ac \\_
Ouitomes Tl
‘Nomavgﬁi 40%
| o)
g L,
Chaig \/howy o) 30)
= %
e
1007

(c) Use the random digits below to simulate the change in the stock price for 10 random days.
07511 88915 41267 16853 84569 79367 32337 03316 43311 58779 015459 43999

random
numbers

outcome

(d) Using your simulation results, estimate the probability that the stock price went up.

(e) Find the actually probabilities for all three outcomes.

Seetree A «\cuamm




